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HWE

FEBINENEFEFREIE , BRI PREHDEIKREETE A Kaprekar BH,
ERBANEREE | BB A Kaprekar B8, LRG|, Kaprekar EIHAESEARBIR
(BERREA | NIEF). NFERIRET Kaprekar FHEFBRNER  UREEEBETZENE
Hﬁo

BROUOT:
(1)5}%[1]@[4]433’9 LHERS S_EUIATE 6 S -EUEBNEINKRE
QE=ZEMNE , BEAFMAg()RTWR=ZEMNEREX , SIEHEESEBNRRERE
ERHRAL,
Qg)BRENMES , IEEMEAREYERF XL EEEN-BRE , HPn2EEEEE,
GHFEARMEEN , KMEREEEFEBBEEMNARMFERE—FX , BEEHERE=#Y
BHEUNER

Abstract

T(z) is defined as the following: for n-digit integer z, arranging the numbers of all digits in
descending (resp. ascending) order to obtain T(z): = A — B.If T(z) = z, then we call x a
Kaprekar constant. There exist the smallest integers d(z) = 0 and £(z) = 1 such that after d(z)-
times Kaprekar transformation and d(z) + ¢(z)-times Kaprekar transformation are equal. It is
called the Kaprekar loop arising from z of cycle length £(z) and d(z) is called the Kaprekar
distance from z. This study devotes to find €(z) and d(z). Under this condition, Kaprekar
transformation will develop into a cycle, including the recurring period = 1. This study will explore
not only the structure of Kaprekar constant and the cycle but the relationship between that and the
chaos. In this article, we prove the following results:

(1) The form and the regular pattern of 2-adic constant.

(2)By studying behavior of function g(x), we obtain £(z), d(z) for 3-adic and n-digit integer Zz,
when z is regular. (We define x is regular in the article.)

(3)g (x) is featured with the chaos, which means any n-recurring points must exist in any periods of
the rational numbers. N can be any positive integers.

(4) For 4-adic integer, after taking at most 4-times Kaprekar transform, the 4-adic integer will be
similar to 3-adic integer case.
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BIEEBENESNEFEHNIE , BAR/DMESIREH DB AHINNEEBSR
Kaprekar 41, B F 213, SNUEFAAM/PNER/IDIMASBIR 321 B 123 , MBMEHESE
198, MELETETE 213 — 198 — 792 — 693 — 594 — 495, HWRFIEMFEREY , KB
Kaprekar @i 8 @G MEHRE R 52 Kaprekar EEH 2 HE A Kaprekar fEIRo

it , BMEERST =, =, MEN Kaprekar BMER, HlW0 . R =, =#NEz
#& Kaprekar B8 0 — X, RN Kaprekar BN W HREHEME, FH4, &K
M9 th AR HRES M HE(L Kaprekar 382 = {7 Kaprekar 8482 2 B HY EAR# %,

=, TRER/

(— ) WEZENUHz , & Kaprekar EEERNER , Uz BEREE -,

(=) REZEUEz , EPEBERTHREI(2). K(2). BREE?(2),

(Z)H=E#NERBSE YERERE TR EM D B Kaprekar EFRNER LR E
H—=

() #RETg () BB BN BRI M 30 3% HH HL B = (U BIFE Kaprekar TR EREBNTE
f, SHENEE =M MBIz , RHEd(2). K(2). (2).

(&) FRETUEN BB Kaprekar BIE N RE, Wik HHE = E M BT Kaprekar B2 T
MER 2R,

. ERNEBERR

HWREBHB Rn , FABBTURTEBEMY , Bz =a, x B +a, x B2 +
vt a,, BRa R RBNEARE  B1<i<n. ATRINAE , VSLRER 2=

(a,a, - ay)po

EEO0-1:HKEZBn) ={zlz=(a,a,..0,)50<a; <B—-11<i<n}
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Z=(cicy v Cn)p , BFC,Cper R ay,ay, o, anNEFHES , Bey, 2,2 2¢,, 2=
(CnCpqC)p
E&E0-2: £AZ(B,n) ={zZ|z € Z(B,n)}o

EE 0-3 :
(1) Tpm(2) =Z—z , #8% Kaprekar £,

— k
TIEB,n) (2) =T@mn (T](cg,rll) @) =T@neTene - °Ten)z), k>1
(2) BT pn(2) =z, AIFzH Kaprekar B &
(3)%&Fz€Z(B,n), FEEHINERE/FES

2 d+¢
X > Ty (2) = Ty (2) = = Tis () = =+ = Tt (2)

E‘T‘(jgm) (z) = T?;' f;) (z) , BITB %A Kaprekar fEIR.
(4) BA{Tn)(2)}ken BRZHY Kaprekar BLEF.

. _ _ 2 _ _
I (1) 7505 (123) =321~ 123 =198, T (123) =T ;5 (198) = 792
(2) T4 (6174) = 7641 — 1467 = 6174
1+5
(3)81-63-27-45-09-81,Tq,,(81) =T, (81) =63

HAEZB,nNREERETE , FIAMEfze ZB,n)XmBELE (2). (3)BFEZ2—

AT EE—FIRE Kaprekar 82 6518 |, BAIBALO TEMERZRE :

(a) BPLEEZ Kaprekar B8 , HPLEFRZ ?

(b) HzF =2 Kaprekar B , ,E\UE?EE':T?B,”) (2) & Kaprekar fEIRENW R /DIFEEZIAM ? 1tk
RNBERRERMTE"?

HitZEMES :
EF 0-4 :
d(2): = min{d > 0 |FFFEL > 1EBT s, (2) = Tian (2)}

d
K(2): = T (2)

0(2):=min{¢ = 1| T(p,(K(2)) = K(2)}



—. BHZRUTEE

(1)&FL(2) =1, TnyK(2) =K(2) , BIK(2)% Kaprekar E#.

(2)Bz=(aaa)p,0<a<B—1,Tpy(z)=08Bd(z)=1,K(Z)=0,02=1,
REIER.

(3) BENB,NRZ(B,n)HABIEBIMER T HIEM Kaprekar BIRNEBE ( 24(2) =1
BT )  BREB,n) = (b, by Enm) » B, Ly Ly g RNFI A IR
BRAREREL(2),

(4)%&L(z) =1BN(B,n) = 1KBUENK (2) BBEIEN Kaprekar E& , BB (B, n)2
BIENEY., (3 KEERRMSEEZAMITFHNERFR. )

Bt . (1)6174 > 6174 , d(6174) = 0 , K(6174) = 6174 , £(6174) = 1,
(2)22250-0,d(222) =1, K(222) =0, £(222) = 1,
(3)&B=4,n=4, IZE4FNERSE

(3021), - (3021), ,

d((3021),) = 1, K((3021),) = (3021), , £((3021),) = 1.

(1332), - (2022), - (1332), ,

d((1332),) = 0, K((1332),) = (1332), , £((1332),) = 2o

AR , BL(2)7BA 12

BIN(4,4) = 2, £(4,4) = (1,2)

(4)&B=10,n=3, RIZZE4FHNERE

495 > 495 | d(495) = 0 , K(495) = 495 , £(495) = 1,

—EfR’R , B¢(2)/ 1,

BIN(10,3) = 1, £(10,3) = 1, (10,3) BBRA Y,
EE:Hz=(aa,ay)p, HE—j€{0,....B-1}&Fa,=j,1<i<n, BzAER
8, BRAFERY. Bz T"RBEMNERETFO, -, B — 1EFHRA,
EAFEEEEREMET ), () RFERY , AIBzRBRRERE,

. FXERMERBARNE —LEREE AN Kaprekar B4 E,
4



T 2-1:

(1)Zg={[t,....ts] | t; RFEEH 1 <i<B}
ZE ={[t,...tg] 1t; >0,1 < i< B}
(ZpRZpMFE&E  HPt;>0,1<i<B)

(2) 8P Z(B,n) = Zg , z = (a,0, ...a,)p € Z(B,n)
Pg(2) = [n,,...,np] , EFnRa,, ..., a, PERB — B ER.

Bl z, = (1739412),, , z, = (12011),
P,,(z,) =[1,01,0,0,1,1,1,2,0]
P;(z,) = [1,31]

HE 2-1:
(1) Pg:Z(B,n) — Zph—H—M&K.
(2)z€Z(B,n) , zRERBNAEERBABP(2) € Z5,

Blgn : z = (12011),RIP,(2) = [1,3,1] , zZRIER B,

EE 22 :

(1) Tgnm(@) = TEm @)

(2) Tiamy (@) = Teomy Tamy(@) » k> 1,
@%T'{Bm) (2) = Tlam(2) = Tlam @) , k > 1o

HE 2-2

(1)2z€ZB,n)RIT 2 =Tian@ , k>0,
—k —k _

(2) T(B,n) (Z) = T(B,n) (Z)

k k _k _k
(3)BEL<k; <k, Tpy(@ =T DT ,y(2) =T , RZTFRo

FH: (1), (2) 2HEN, (3)2EA

k-1 = k-1
T(B,n) (T(B,n) (2)) = T(B, )(T(B,n) (2)) k>1

—f
Ty T ey (@) = Tpy T gy (2)) €20
W (3) B,



Bt ;T

(3’4)((2021)3) =

Te, 4)((2210) ) = (1221),

T?3,4)((2021)3) = T(3,4)((2021)3) = (2211),
12, ((1221),) = ((2021),) = T, , ((2021),)

_2 4
& T(34((2021),) = (2211); = T (3, ((2021),)

=, AEEMIEE 2 AR Kaprekar M IEFR X BSR4HENER , EARAMPHERT

—E2ENVBANAR , BRELRMEM4RTE TR,

BB=2,z€Z2,n)RERH,
z = (11020, , Py(2) = [a,b]

a b
Hfn=a+b,a bBEEEHI<ab <n.

HRFENa=Z , A0R (1), (2). (3) =8k,
(1)&a>bBb>1, 8IT, (2) =T, (2 =(1-101--10-01),

b-1 a-b b-1
(2)%a>bBb=1, AT, (2) =T, @ = (01:1),

(3)Ba=b=7(nRBH) AT, ) =T,,@ = (L1 +10-+-01),
a-1 a

(1), (2). (3 )‘éﬂ%’ET(Z n@ =7=(1-10--0)
HRFENa <, DK (4). (5) WEER.
(4)Fa<bBa>1, 8T, (2)=T,,, 7 =(1101--10--01),

(5)&Fa<bBa=1, EIJT(Z'n)(z) =Tom®@ = (()1%.1)2

(4). (5) ‘é.’“féféf(z,n)@:(g_;-_m;()) B (4). (5)BER
b @ _
z = Ton(2) = Ton @B ET o (2) = T? o) (@) = T oy (2) = -
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5|38 3-1
HzezZ(2m),z=(1-10--0), = 2" - 1)2b%IE;ﬁ§$(
a b

b-1 a-b  b-l

(2)Fa=n—-1,n>2, AT, @=01-1),=2" -1

(3) Ea=3, nBEY, AT, ()= (1-10-01), = 2 -1 -1

a-1 a

(4)Fa<3, a>1, 8T, (2)=(1-101--10--01), = 2 -ne -1
a-1 b-a a-1
-1
(5)%Fa=1,a<3, AT, (2)=(01-1), =2" -1

b

EHE3-1:¥zeZ2n),z=2%-1)2° , o, bREES ,a+b=n, 8

((1..101..10..01), a>b
().101%0100101), b>a
dz)=1,2z) =1, K(z) = Tn(2) =< (12110 ..61), " a=b=>
(01..1)F a=1lorb=1

\ n—1

BFE-LEHFMTR :



fir Z d(7) £(2) K(2)
2 (10), 1 1 (01),
(111); 1 1 (000),
3 (110); 1 1 (011);
(100), 1 1 (011),
(1111), 1 1 (0000),
. (1110), 1 1 (0111),
(1100), 1 1 (1001),
(1000), 1 1 (0111),
(11111); 1 1 (00000);
(11110); 1 1 (01111),
5 (11100); 1 1 (10101),
(11000); 1 1 (10101),
(10000); 1 1 (01111),
(111111); 1 1 (000000),
(111110), 1 1 (011111),
(111100), 1 1 (101101),
° (111000), 1 1 (110001),
(110000), 1 1 (101101),
(100000), 1 1 (011111);

M, RBRMEERSR

ARNE— EEEER 3 R Kaprekar BIHEE,

EE 3 ENIH Kaprekar 8, EB =3, Hz € ZG3,n)REREH ,




z= (22110~ -0);, Py(2) =[ab,c] , H¥a, b, c BREEBHn=a+b+co

b

EHEEAE  JEUATHE

5|3 4-1

BzeZ(3n),z=(2--21--10--0),RIEHRH,
a b c
(1)&a=zb+c, ATy (2) = (22:221:::102:::21 - 10-:-01),

c b-1 a-b-c b c-1
(2)#&c<a<b+c, BITg,(2) = (2:221:--102-::21--1Q--01),

c a-c-1 ctb-a ac c-l
(3)Fc=a, AT (2) = (222212:::20-::01),
c-1 b c-1

(4)&BEa<c<a+b, J(3n)(z)—(2 :21--102--21---10---01),

a c-a-1 atb-c c-a a-l
(5)&Fcza+b, ATy (2) = @22221-:-102:::21 - 10-:-01),

a b-1 c-b-a b a-1

EE4-1: F3: 73 573 (Z3,Z;MEBWNESE 2-1)

f—a—b,Zb,c] a=b+c
:b+20—a,2(a—c),c] c<a<b+c
F3[a,b,c]=<ia+b—c,2(c—a),a] a=c
:b+2a—c,2(c—a),a] a<c<a+b
:c—b,Zb,a] atb<c

77T HRENEE T:EZ:Efﬁsfﬁﬂ'\J’%%TT@ ),F3,P3%[£1F3%|31«1T F,PRE,
EE L, 3#EMK Kaprekar #z 1 Kaprekar Bt T ITREP(2)EF THITASZF EHE
Y, HHEMBELUTEE

5|5 4-2
z€ Z(B,n)BzRIEHRE,



(1) P(T(2) =F(P(2))o

(2)F(P(@) €z} , 1<i<k—1RIT' Q) RERE , lEP(TX(2)) = F*(P(2)).
(3)BF(P(2)€Zy  1<i<k-1,8 T;l(z) = T"Z(z) £ F;?(P;;;;(z)) = ijf(T(z)) B
BREEHM

T(z)8F[a, b, c]HIBAE :
z-T(z2) = > TYz) = - > T (2),
e
P(2) > F(P(2) » - = F4(2) » - = F™*(P(2),
Hid, ¢, K(2)WHEES , BRAETREBTY(2) =T (2) , FEEESR
(F(2) = F*(P(2))). RIBREEBFER A THEEHENBERE ? ERE5EN.
EREAEW € Z AR FER—ERBz € ZQ,0NEBP, () =w, BT! () =Fiw) , 8

FRIEERBLEMY, PIAERMBEUTHESR,

5|38 4-3

#HweZ BlBzeZIBn) , EBP,(D)=w,H
dp = min{d > O|FF1EL > 1EBF¥ (w) = F*(w)}
K = F (w)

£, =min{i > 1| F** (w)} = F7 ()}
Ed(z2) = dp , Py(K(2) =FF W) , £(2) = ¢ro

5|3 4-4
&la,b,c] EZ,;,r ,a+b+c=nBF[abcc]=[a,b,c], BB
(1)d+b +c=nBad>c,
(2)&a=cBd,b,c >0
(3) Fla b, c] = F[c, b, .

Fi, E—ERMEFR 3 A Kaprekar BB , BENEREMERD - —ERE
3 L Kaprekar EEM RN, [ERM 3 AL Kaprekar B x Bd(2), K (2), ()R, 3
—EREMIETEREEREH EMEE g(x) , FIALLEEAIUGTE 3 U
Kaprekar 8t W B EFREEAEEMRPEEHENBET , RMBEITERE 9x)
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Elg_gﬁ%o

EFE 5-1:
(1) BExREREH , ERg)WT
% x=>1
g ={_, o
E 0<x<1
(2) ExBEH , EHg() 0T ,
xT_l x=>1
g ={ ,
E 0<x<1

Bty R B g AV,

14

(3) o) =~ () ===
513 5-1: &[d,b',c'l =F[a,b,c],a#c,abc€EN

(1) &= =180 > ¢

a'-c' la—c|
(2)——=9>)

bl
! g(la;q) ' 1 , )
( 3 ) a = la=c| (la - Cl + b) ’ b" = la—c| (la - Cl + b) , C = mm{a, C}
g 14955
SIS (1) EHEHF[a,b, ] NEETE.
o _la=c o+ _a-c
( 2 ) X = b ) - b, o

oK (1)x>1% (2)x < 1537,
Zx>18la—c>b, HFHNERH

a—c_1

r_a—-c _ab-c_a-c-b_ H1 x-1_
YT T T T T 2 =7 79
Zx<1Bla<b+c, AEHFHERA

b 1

r_a'=c _ b+2c—a—c _ b—(a—c) _ 7=~1 _ 2 _

X = b T 2(a-¢)  2(a-c) 2 2 _g(x)

(3)YHa#=ctBBa>cHa<c, HSE4403)H , a > chBEa < cER—Ho
WEFEERNa>cB¥. BHFHNER , ' =c, BH
a+b+c=a+b'+c, Ba—-c+b=d-c"+b" ,

— ' ,—’ 1
Tx = |abc|,x = ab,C CBl (@ )b =x1

11



EII_I;

Rit(a' —c)="=(@—c+b), b’=$(a—c+b) 18

Fix= la V21, Blgex)£0 ,#a >c, Bit[a,b,c] €7,
EE%liE 5-151, Hg(O)MITRTAE Fla, b, c]W1TH , BHGIE 43 Hg(x)RE
d(z). K(z2)®t(z)M1E.

EE 52
(1)a,=1,a,=1,«a
(2)B, =% k=1,

k+1
(3) BEFIY,S, _  2EAT
J1=001/3),], = B3 1), T g1 = Bz Bod Jom = Bomgr Bomer)m > 1

o1 =20, 1, a, =2a, —1,n21

2n—1 2n—3

REBE&RS2(1)5HETEa, =2 -2 —m 21 k> 1R
@, =2 -2 -2 -1 BBHEETSE
a,=1,a,=1,a;,=3,a,=5,a,=11,a,=21, -

B, =1, p,=1, fy =2, 8, =5,

J1=091,=C1) J3=G)
I,=13):1,=@37) 1,=(7,15)

5|38 5-2 :
(1)Ex2FE | WEEE  Blgx) = g(%)
(2) g(ﬁl+1) =p ,i=12,-, 5(51) =0
(3)gRktT—1)=2k-1, kAEERY
( 4 ) 9: 1k+1 - Ik H— ¥ —BREY
(5) g-]k+1 = Jx T —HE -
Hizre IERAE P (2) = [a,b,c] > RIS 3E 5-2 » pREL g(X)HYBLET
o 2k—1 5021 -1)5. 535150
e B o g _’ﬁ1___>1_>0 E]iEIE S

NS

JEFE 5-3 ¢
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20" (O ken B X119 g BT

513 5-3 :
zRIEREEP(2) = [a,b,c]
(1) B 2 18T () RERE,
(2) B BR2E — 11 k23U B I kEN}, AIBEERB m, #ET"(2) TABHK
IER 8o

JEFS 5-4 1 x Ry A EEL > Al

dy(x): = min{d = 0 [{FAEL > 1{#{Fg%(x) = g%+ (%)}

Ky (x): = g4 (x)

L,(0):=min{l =2 11 g*(K;(x)) = K,(x)} » xZIEAHEEE £(x) = k - BlffxEg ()
k-1

BERLED - Fdg(x) = 0 HllxZg (oY k-HHIRLED -

5|38 5-4 :

EEEH x 2N KBS k>1, (B0 = 0MEERERDN, T®), -, 7 ()}N
0,D{x,gx), g ()} (1, ) EFREES,

E—FERBg()WT :

P—q _&){pl =2p mod(p+q)

p 2q 91" q; =2q mod(p +q)
gi=) = _
q < q—p(_&) p; =—2p mod(p +q)
2 491 q, =—-2q mod(p+q)
HAEEMPEATHER,
5|38 5-5 :

pREENEES , 5= g®) , A

(1) +q) BFR(p+0q)
(2)p,=2pmod(p+q), q, =2qmod(p +q)
HEp, =-2pmod(p+q) ., q,=—2qmod(p + q)

13



JEFE 5-5 1 HEp+q=2°P 0 P REr o s RIFEEEE
(1) or2*(P) = min{r 5 FE%| 2" = 1 modP}
(2) or2=(P) = min{r B 1F¥E# 2" = —1 modP}
(3) or2(P) = min{or2=(P),or2*(P)}

EIE 51
—s  pqREBWEEY , Bp+q=2°P, PREE , s R}FEEY  Bld,(x)=s B

#g (x) = or2(P)o

HA  AHBEPEMEAINTIEE
(1) a,b,c,d RBIEEE ,a+b=c+d, a=cmod(a+b) B
b =dmod(a+b), Bla=cb=do
(2) $E=g"Q k21, BR@ + a) BRO + R T HERFIRR

Prta)=(+q k=1,

H5IEs5-5, (1) p, = ka mod(p +q) , q, = qu mod(p + q)

RE (2) p,=—2"pmod(@ +q) , g, = —2“gmod(p + q).

(1) BRI p,=2pmod(p+q), q,=2 qmod(p+q) , r REEH,

2 =1modP , Alp., = 25+Tp mod(p +q) , q,,, = 2r+sq mod(p + q) =
Poy, = 2D mod(p +9q) , q,,, = —2""qmod(p + q)

BEASp,, =2p=p, mod(p+q) , q,,, =2°q=q, mod(p +q) ; BE
ASp,,, =-2p=—p, mod(p+q) , q,,, =—2°q=—q;, mod(p + q)o
AR @ +a)=@+q) k=1, Bip, B =5—

As+r
Bl E() R, Br BEZE2 = —1modP , —EBET 55” = ’;’—
Q)R , E()EUW KRS P = Z—

Ss+r

ASCHIR AR — D HEH > BUPEEEz - HATA IR m > (H5T™(2) & RIEARE -
Lz > FAEEREE m > (HETT(2) A RyIERE -

51E 5-6 :
(1) G%B 2 M=, BH94,B,C,DREH,

(2) 9(—1)——

14



FH: (1) AB@QEI<x<1E , gk =¢X), (b) Ex > 1, g(x) = ¢(x)o
EEFETH o4(x), 0' ()R 04 (1) (¢ (1) M ¢'(0) (9" () BRI B |
MBBRMETES : g 02R T Bk,

(2) Bo(-1)=¢(-1) =—1, HBERMETHE,

xEEEH , BxBgrBEHRE AR EREH,

B @EBIES2, TP §(0) =1t HFABCDREEY.

x> 027 M k- B, 7°(x) = x WEEIACK2 + (D — A)x — B = 0K,
X—182Cx%+ (D - A)x—B =02—# , Biltg (x) = x WAL AEEH,

BETREMANMBUOARMAgOWME | & n B, BEHES n-BRE,
BxREREY , Bg()PHx > 180 < x < 1EEFARLS

1

00 =5, o) =
Bllx > 1B g(x) = ¢(x)
0<x<1Kg(x) = @(x)
p: (2t — 12k —1) > 2k = 1,2k - 1) > -+ 5 (1,0)

1
$:Jisr =S == (B 1) = (0.9

EEREAEMTEARS € (0,)

(1) ZEp=1(5),972(S), - Blo~*(S) €],
MBI 52, Fl¢ “(S-)HESR—H—BRRM.
yE (08 <o) () S2, EUEBFIS,)CS
1S, — S| = OBISHEIMAA TR ERBIL |
lp7(Sn) — @ 7*(Sm)| = 0

(2) 75, @ 28, - Rg sy e @ 12" — 1)
M58 52, E g (S,)BES, B—H BRI,
y€ODE , (¢ H () =2, HLERKFIS,) C S,
IS, — S| = OBIHE MR M ERBK |
1P (Sn) = d7F(Sm)| = 0

15



BIE 57 : ay, B, k = 1HEEK 5-2
1

(1)x==2g(x) ¥ n-BHA%,

271.
d d—4+1 d>¢-1
2 x=2d—1+2—,dx= , P(x) =4,
(2) S =0 T T

(3) x= B - 552 | £ g() ) (mik-1)-BI.
Tk+2

TEH: (1) EEx<1,9g(x),g0%°x),,g" ' (x)>1, Bg"(x) = B,
1-x TN 1-2"-1Dx _

2x 2Nx

X

n n

2x*+2 —1Dx—-1=0
_1

=

=

(2)F\x>1, g% <1,x9x),g%x), 9" () >1, Bg¥(x) = g4 ()8 ,
-1 1-24 1
X T =gt =5
d
x=20-1+%
2

(3)&x>1,x%9(x),g*), g™ '(x)>1,
g(x)m'gm+l(x)’ ...'gm+k—1(x) >1, Egm+k(x) — xﬂi'—_f- ,

1—x 3x—1 3 —5x 5—11x A — Ay X 1 o — QX
X = - - - —)---—)——>---—)—(—+1)—1=x
2x 21—-x) 2Bx-1) 2(05x-3) 2(apx — ay,_y) 2m 2(agx — ay_y)
Q™ ) + (2™, + @y, — 2a)x — (2™ = 2)a,_ +a,) =0
(x + 1)((2m+1ak)x - ((2"”'1 —2)a,_; +ap)) =0
x = ﬁ _ (_1)k
- Pk 2m+1ak+2
EE 5-6:

(1)%5,=5U(U g7(S) . S, =5,U(U ¢7(5)

(2)7S,= 511U(kL=Jl‘P_k(511)) S = SZU(kLleq.')_k(SZ))

(3)M (1) (2) ARERES S,5,1,5, S,

FST=(UES)HUCU S,
k=1 k=1

16



(4) HRMEMEREBNTESS , RAERES IO) =5, LEE

_ k e
1.3,=5, ESAMBE2 - 1,5, KENEEH,

=S, 8BS AFA MRNELR.

d

) ey -
3.3, =5, ESBAE2 — 1+ URNESHE,

£+1
2

+1
L)

. ) \
=S, ESRAMAEP, - nf_l) FERHNEESR.
2

51 5-8 : B/, ERWESR 5-2

+1

(1) EEEREEN FEEI ken, Dn Dmen » TEXEE], > Y€ @ -12" -1
HeGm) =n i) =n

(2) ERERBn , FE{s)) {60} BBSH =n, &) =n BlimS; = B, ,

n—coo

llmt? = Zm -1

n—ooo

T (1) BSRAEEMNES  EEEE -6 PRk = o (5,
yE=¢T () . BVRFER.

(2) S RAARRGHRE 60 ER 56 HS, =5U(U g ()R
S, = 51U(kL_Jl¢_k(Sl)) , BRAFTR,

5138 5-9 :
:RERMEAP(2) = [a,bc] , WHEAERE m , T"()RERBNARHAS : =
TEBRS o

ALEA : HGHIER |, Bx € J(x,) , AIFEEREIL, k), ky, - ki fEBx = J(x,) , HF h 2
1,972 oG BT ) = 2 Bl BT e, AIFEES
BmEBg( =D € (B} U (2K — 1}, 8 2 80 Kaprekar BBFE R AFERH,

Rz, ZzRERHE 28 Kaprekar BISFEEBIFEREY , UIFEHRIHEEE m ,

EET" ' ()RERY , BT"@)TREREEM =1, RET" '(2)=2). &
17




PI™i@) = [4B,C] B = 1, m e () €3,

E¥E53:2z€Z3,n)BP(2) =[ab, ],
(1) EpRgM -ERE e S((p)) . B £(2) = ko

(2)£2) =1, WxEHEHFRESD e 3G
MK (z) = (2..21..102..21..10..01); , k>1,¢c>1,

c k-1 k k c-1
HK(z) = (21..102..21..11)3 , k> 1,

k-1 k k
MK (z) = (2..20210..01); , ¢ > 1,

¢ c-1

HK (z) = (20211);,
(3) BIRBRS Bla—c|+b=2PHASRERRBPRESTH , AlL(2) = or2(P)

SRR : (1) %fg(pk) =k ,&dy(p,) =s, Bx € I3({px}) , BABIE 5-9 WRLAABE , 77
HEEE# m, F8g"x) =p, . dy(x)=s+m, t,(0)=k, X H
£(2) = £, | T1Be(2) = ke
(2) Bg(x) = xREM—fx =, #5512 59 WIARTS.,
(3) HER 5-1 RIEF5I1E 5-9 WEEAA 5.

Bltn: (1) z=(211111211111120111111),, P(2) = [3,17,1],0r2(19) = 9 ,
2(z) =9, P(2)# Kaprekar ELZF 20T
317,1] = [16,4,1] - [12,8,1] = [4,16,1] - [14,6,1] - [8,12,1] — [6,14,1] —
[10,10,1] - [2,18,1] - [18,2,1] = [16,4,1] -
(2) P(z) = [14,27,3],0r2(19) = 9 , £(z) = 9
P(2)H Kaprekar BLBF 1T

[14,27,3] - [1922,3] - [9,32,3] - [29,12,3] - [17,24,3] - [13,28,3] -
[21,20,3] - [5,36,3] = [37,4,3] - [33,8,3] - [25,16,3] - [9,32,3] -

18



ZHRBIFRFIA excel T —EREREEZETRETREER

a-c b  cyclic length p+q a< b  cyclic length p+q a<c b
2 36 9 0 76 2 74 9 2 152 2 150
3 | 35 9 2 76 3 73 9 3 152 3 149
4 | 34 9 I 76 4 | 72 9 0 152 | 4 148
5 33 9 2 | 76 5 71 9 3 | 152 | 5 147
6 32 9 0 76 6 | 70 9 2 152 | 6 146
7 | 31 9 2 76 7 69 9 3 152 | 7 145
8 30 9 | 76 8 68 9 1 152 | 8 144
9 29 9 2 76 9 67 9 3 152 9 143
10 28 9 0 76 10 66 9 2 152 10 142
11 27 9 2 76 3 65 9 3 152 I 141
12 26 9 | 76 12 64 9 0 152 12 140
13 25 9 2 76 13 63 9 3 152 13 139
14 24 9 0 76 14 62 9 2 152 14 138
15 | 23 9 2 76 15 61 9 3 152 15 137

P(z) =[a,b,cl,p=a—c,q=b,p+q=2x19,22x19,23x 19

19



38 16 22 9 I 76 16 60 9 | 152 16 136 9 1

38 17 21 9 2 76 17 59 9 3 152 17 135 9 4
38 18 20 9 0 76 I8 58 9 2 152 18 134 9 3
38 19 19 1 | 76 19 57 | 1 152 19 133 | 1
38 20 18 9 | 76 20 56 9 0 152 20 132 Y 2
38 21 17 9 2 76 21 55 9 3 152 21 131 9 4
38 22 16 9 0 76 22 54 9 2 152 22 130 9 3
38 23 15 9 2 76 23 53 9 3 152 23 129 9 4
38 24 14 9 | 76 24 52 9 | 152 24 128 9 0
38 25 13 9 2 76 25 51 9 3 152 25 127 9 4
38 26 12 9 0 76 26 50 9 2 152 26 126 v 3
38 27 11 9 2 76 27 49 9 3 152 27 125 9 4
38 28 10 9 | 76 28 48 9 0 152 28 124 Y 2
38 29 9 9 2 76 29 47 9 3 152 29 123 9 4
38 30 8 9 0 76 30 46 9 2 152 30 122 9 3
38 3l 7 9 2 76 31 45 9 3 152 31 121 9 4
38 32 6 9 | 76 32 44 9 1 152 32 120 9 1
38 33 5 9 2 76 33 43 9 3 152 33 119 Y 4
38 34 4 9 0 76 34 42 9 2 152 34 118 9 3

TES3EALEEET 3 K ER Kaprekar MNBEBEEL(2) , L TN Ed() , &
Kaprekar B8 , $HAIEERE 3 AL Kaprekar B , [0 E DA FEHHE, B 3 EL
B Kaprekar BT R ERRAMETRAN., EFRRMBIVg(OHTS.

&5 | BB Kaprekar BUSER Kaprekar EBHER | i —EESEHB « HE
Kaprekar B , £#EAEBBRBRS, , Bl x B2g(0)H k- BERH®), NREAEEEY
WEM T SEEEN 0 BRE B REEERY, HEEREg() BN,

513 5-10 :
Ef o (ny,n, BHE ) MAFEY € Gr,om) (R, <n, ) BE

20



i) =x,, %, € (272 —1,00) , Hit , EAERES , %5 n-ERYx, € (2—}11,2%)0

B 54 By,y, REREE ,y <y,

(1) BBx € Bidren V(2K — 1hen . BBy, <x<y,, AERB(y,, y,) PABEEN n-fER
®,OHP I REEEEH.

(2)&\Bxe3,, E58y, <x<y,, AEB(y,y,) PLEEEN n-BRE , AP BEE
EEE,

(3) y,7, €03 , EEEE—EBBEB"(y) <1< g"(y,)H
9", <1< g™y ORI, AIERE(y, y,) PERESH n-BRAE , HP o RERE
E2Y,

(4) BEEERE-EBEESI"(v) <1< g™"y,)Fg™,) <1< g™y )KL , AIER

1 Y2)
FAEEEN n-ERY , Hbn REEEEEE,

(3) (4) RIRIF g"(r) <1< g™, @"0,) <1< g™y, THR&K
9" <x<g"y,) ((@"0,) <x<g"yy), HFx € Jjo

N, HR4ENNIER , z€eZ4,n) ,z=((3-32-+-21---10---0) ,
B FHREFEER , BET(2) = (a,ay -, an)
BIR[1] , #a,a,, -, a,BEFBE-EMAE2((2,0)(11)) , FZHENE
3((3,0021)) , —#HMAE4((22)(3B1)) , Fep—LHF3 (B OE) .
HREAF (3,0BA#E. (2,0EBHE. (2,0MAD)EHEF—HE. (3,0FQ2,)EHP—
HH, BAEBAETRREN 3(x = 0)o

21



PR
1E4E | 308 E | 2R08E | 1 10BE | 0RVENE
fuma|foms|fome| =
(3.0)
(2,2) (L) | (1) A+x B+2 B+2 A
(2,1)
(3.0)
G| 5| @O @ |Aexet] Bl | Br1 | A
(3.0)
(3.1) (LD (2) |A+x+1| B+3 B+3 A
(3.0)
(2.2) 2.1) (2.0) | (3) A+Xx B B A+l

A LR ABENKR , THP, (T, @Q)BRAT 3 BEAZ—

I [a,b,b,c] a=c
x=_UI[a,b+3,bc] a=c-1
II[a,b,b+3,c] a=c
HtEMES
Ex 6-1 :

Ez€Z(4,n), BERIFEEE D FEE

P,(z) = [a,b,b,c]i[a,b + 3,b,c]S[a, b, b + 3, ]
Bk 78 z R 28 LILII BB Bl &%
(1)P,(2)=[abb,c],az=c
(2)Pu(2)=[a,b,b+3,c] a>c
(3)P,(2)=[a,b+3,bc] 'a=c—-1

TEFE 6-1

22, = Py(Tyny (@) Hz, 2, & RHIEREAIE

EVEP (T gy (2)) TS

la,b, b, ] a-c<b
: a,b—-1b+2c-1 a—c=b
Fia,b,b,c] = I '
[2b+2c—-a,a-c,a—-c.c] b<a—-c<2b
[a —2b,2b,2b, ¢ a—c2>2b

22



(@ —2b—3.2b+3.2b + 3] 2b+3<a-c
[2b+2c+3—a,a—c,a—c,c] b+3<a-c<2b+3
|b+c.b+2b+5,c~-1] a-c=b+3
[a—=3.b+3,b+3.c] b<a—-c<b+33<a-c
Fila,b,b+3cl=<[2c+3-a,b+a-c,b+a—-cc] b<a-c<b+3a-c<3
la=3.b+3b+ 3] b=a-c,b>3
lc +3—5,2b2b,¢] b=a-c<3
la=3.b+3.b+3.c] 3<a-c<bh
2c+3—-a,b+a-c,b+a—-c,c] 0<a-c<3a-c<b

([a—2b—32b+32b+3,c] 2b+3<a-c
2b+2c+3—-a,a-c,a—-c,c] b+3<a-c<2b+3

_ 2b+2c+3—-a,a-c,a-c,c] b<a-c<b+3
Fila.b+3%cl= 126 + 2¢ + a,a-c,a—c,c] b<a-c<b+

.

la+3b-1b+2,c~-1] b=a-c
la +3.,b,b,c] 0<a-c<b
‘la+2.b+l.b+l.al a-c=-1

T5H4E 6-1

ME 61 :

%2y = Py(T 4 (2)) Bz, 2, & Ry TERSANE

() Bz AEIEBa-—c#b  Alz) B 1M (FHa—c=b> Rz HENED

(2) Hz BN Ha—c#b+3 >z, BE T (FHa—c=b+3> Hllz, K5 1)
(3) Ezlys I Ha—c#b > Az /FE T CGa—c=b> Rz, B THH)

FEHE R 1

Rt EZE

2 3
Z2=T gy (2) » T( 4m) (2) » T( 4m) (2)

Ytz =T, ()BRAERE ,i=1,23, 8z, A% LILIIE,

(4n)

Bz, A RE1¥Na—c=bHIERT , Blz, BBFE 1E,

23



- z;* ={[a,b,b,c]|a, b, c B TFEE Ha > c}

905 3 QTP IVERF, 25 - ZF

4TV IERBAEAN B ESE Ve — ¢ = bAYBIE T - ZA4E 3 JOEHE % - kME 6-1

P,(T3(2)) € Z, » F5H&EZTE1Z),a > 0,b > 0,¢ > 0 > F,[a,b, b, c] T LIEHERF;[a, b, c]HIH

1 > B LSS TUEi H VSRS n] I AR 4 EAAVBRY -

53 6-1

¥z €Zyz=abb,c]AiiEa—c#b

a,b, b, ] a—-c<b
Fia,b,b,c]=42b+2c—-a,a-c,a-c,c] b<a-c<2b
la = 2b.2b.2b, ¢ a—-c22b

+z =|a,b,b,c]Ha—c#b>%Sw=]a,2b,c] Al
Z; = {[a, b, b,c]|a, b, c B TFEEHREL[a, b, c]|a, b, ¢} TFAEE)
[ELA — B BRRAVE ERE (% 0 Y(2) = w > HYiey(F,(2)) = F3(w) °

5| 6-2

z=[abb,c]Hiia—c#b  Lx =" FREFEERERE

(1) 0Sx<%’ﬂ%DF(z)=Z°

(2) 3<x<1>HI0< g(x) <3 BIF?(2) = F(2) -

(3) xe =121 —1)Hk =1 Higk(x) < 1 BIFFt(2) = F*(2)5iF**2(2) =
Fk+1(Z) o

sgld - (1) ~ (2) A[H5[HE 6-11541 -

(3) Hg“() <1(g" () > 1) > #Sx, = g*(x) = xediifiid (2) -

a;—c;

%z, = FY(2) = [a;, b, b;, ¢;] = xp = 2b;

x e RIET (1) 30 (2) - EIELF(2) = FR(2)EF**2(2) = F**(2) -
24



5[5 6-3

Sz €] RS+ Hle(z) = 1> HESRTHIER » W3d(2) ~ K@U :
(1)< d@) =1 -

(2) ;<ZE< - d@) =2 -

(3) 2¥—1<-<3- 281 — 1 kIERE - d@) = k -
(4)3-2F1—1<Z2<2M — 1 kBERE - d@) =k+1 -

(1) ~(4) R S EEK (2) )y (3o 320021 103231 10 01), g -

c a-c b-a+c-1 a-¢c b-a+Cc c-1
E& 6-3
[a!b)blc] a—C<b
F,[a,b,b,c] = { [a—2b,2b,2b,c] a—c>2b

[2b+2€—a,a—c,c] b<l—-c<2b
AENNBRBRSE 4 REHE , fiH 1, T2 € 2, , HERZ]

EﬁZ:,a >0,b>0,c>0kF,[a,b,b,c] TAEEERF,[a,b,c]f 1B , TAE REHFNER
RULERE 4 #AUWER,

B, &W

(— ) B8R 2 ENH Kaprekar ERRRNERA TE 3-1
EE 3-1.

EzeZ(2,n),z=02%-1)2" ,a, bREEBE ,a+b=n, Bl

25



(1..101..10...01), a>b
—1 a—b b—l
(1 .101...10....01), b>a
d =1,¢2z2)=1,K =T = a—1 —aa—l
(2) (2) (2) = Tm(2) (1 10...01), a=b="
k(011)2 a=1lorb=1
n—1

HWERMTPHNEEEE 0.1 — W

Theorem 0.1. (1) Let n > 2 be any integer. For any non-trivial x € Z(2,n)., of the
k n—k
n

-
formax=(1---10---0)p withl1 <k < [T] we see that d(z) =1, f(x) =1,

&

k-1 n—2k k-1 k n—k
. N N — ;
K} ={1:51 0Tl 000 Dy =T Dy s (lo0)y

n
and that N(2,n) = [—)} In particular, (2,n) is strict, i.e., N(2,n) = 1 if and only if

n = 2.3, and in these cases,
K22y = (01)2, K23 = (011)2.

(2) Conversely, the 2-adic expression of the product of two Mersenne numbers 2 2k1 1

and 2%2 —1 with any positive integers ky < ko is equal to a 2-adic (ky+ ks)-digit Kaprekar
constant

ky—1 ka—ky kp—1
-~ N —
(TH31 6 T541 0-501)s.

T 3187 = (2% — 1)2° , b, aB[4]FER 0.1 89k, k, , T2 — 1B] Mersenne B,
[4NER 01 tFHET NCn) , EEREE -1 URESEE , RAE 2 ENNEF
HMETBARFIEEERENCL. BAMEES —BEXEERBEMEMLN 2
B Kaprekar 8 | MAXHIEMNE LB BEETLENELL

(=) B3R 3 EMHK Kaprekar Bt | HRREREREE 5-3. RMBETHEEREzNL(2)
RBEREREL(2)N AR, BAERET 3 HALK Kaprekar B RUIA K 20 Kaprekar B HF
EAERBNEERS. B551E 57, & 5-6. 51E 58, 5[E5-10, BHE 5-2,
EE 54, AIRERBRgOWEAMY , RAgREREEREY , Y F2—E=H
WES. FTUMGIER 3 BI®E LiYorke EERBRMM | AE ERATIREERE(X).

REg)BRAMERE g )F—TEARAREERBHHERSEg()L , IUE
H2B8ETg(x) LM BEHER R (x) LA —L, ETREBSIES-7. EES-68
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BEERMAUESENER, 2 — 12" - DEES EMEEHTURIMIMA n-
BRY. BEANGNEAMIAEY  E5E— {8 m BELREERET R H0E
ZHAEES ME—% , BLAEEREETURIEM FRY. SAESER
ERNEAMEEASEAMEAEREHE.

(=) 8R4 EMNNBTEER F,la, b, b, ] A& LA LMLIIEKF;[a, b, c]VIEHR , FREMIER
4 B Kaprekar BE R E A Kaprekar B8 , BRE MM HI0 5 ENEBRE1H
BEORER , B8 AETM.

. BEXR

[1] G. D. Prichett, A. L. Ludington, & J. F. Lapenta. "The Determination of All Decadic. Kaprekar
Constants." Fibonacci Quarterly 19.1 (1981):45-52. 11. Lucio Saffara.

[2] STAN DOLAN, A classification of Kaprekar constants, The Mathematical Gazette. Vol. 95, No.
534 (November 2011), pp. 437-443.

[3] Manuel R. F. Moreira, “Dihedral Symmetry in Kaprekar's Problem.”. Mathematics Magazine,
Volume 90, 2017 - Issue 1 pp. 38-47.

[4] Atsushi Yamagami "On 2-adic Kaprekar constants and 2-digit Kaprekar distences" Journal of
Number Theory, 185, October 2017
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B 8%

%138 12, (48,8, EPA>C Box="C

Iy FEB>A—C - JIP,(T,, (2) =[4B,B,C] - 155 Kaprekar B2 - HO <x < % °

A 1
Iy BB =A—C - AIP,(Ty, (2) =[A4B—-1B+2C—1]  Bx=-"

)

Iy BB <A—C<2B - BIP, (T, (2) =[2B+2C-AA—-CA-CC] Bi<x<1-

3

Iy HA-C22B AIP(T,, (2)) =[A-2B,2B,2B,C] - Bx>1"-

C))

SBUE:z,:[ABB+3C], HPA>C:

Iy :&H2B+3<A—-C, BIP, (T, (2) =[A—2B—32B+32B+3,(Clo
Iy :EB+3<A-C<2B+3, AP, (T, (2)=[2B+2C+3-AA-C,A-CCl
Hg :HEA-C=B+3, AP,(T(2)=[B+C,B+2B+5C—1]
Iy :HEB<A-C<B+3,3<A-C,8P,(T,,(2)=[A-3B+3,B+3Cl
Il : EB<A-C<B+3,A-C<3(ltlB=1,4A-C=2),
AP, (Tymy(@) =[2C+3-AB+A-CB+A-CC],KAB=1,4-C=2,
Bl[C +21,1,C] > [C +1,3,3,C]o
I :EB=A-C,B23, BIP(T,,,(2)=[A-3,B+3,B+3Cl
g :EB=A-C<3, Al P,(T,,(2)=[C+3~B,2B,2B,Cls
Hg :EHE3I<A-C<B, BIP(T(2)=[A-3,B+3,B+3,l
Iy :HEO<A-C<3,B>A-C, BIP(Ty(2)=[2C+3-AB+A-CB+A-CC]

BT :2,=[AB+3BC HPA>C-1:
Iy #F2B+3<A~C RIP(T,,(2) =[A—-2B—32B+32B+3,(] "

I, :FEB+3<A-C<2B+3 AP, (T (2)=[2B+2C+3-4A-CA-CC]"
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+

111(3) cEZB<A—-C<B+3- EUP4(T(4‘n)(z)) =[2B+2C+3—-AA—-C,A-C/C]~
111(4) cEHB=A-C" 8- P4(T(4’n)(z)) =[A+3,B—-1,B+2,C—-1]°
Hlg : FHO<SA-C<B:8IP,(T,,(2))=[A+3,BB,C]"
Ml :FA-C=-1" RIP,(Ty, (2)=[A+2,B+1,B+1A4]-
([a’blblc] a_C<b
[a,b—l,b+2,c—1] a—c=»b
F,la,b,b,c]| =
sla cl {[2b+26—a,a—c,a—c,c] b<a—c<?2b
k[a—Zb,Zb,Zb,c] a—c>2b
( [a—2b—32b+3,2b+3,c] 2b+3<a-c
[2b+26+3—a,a—c,a—c,c] b+3<a—c<2b+3
[b+c,b+2,b+5,c—1] a—c=b+3
[a—3,b+3,b+3,c] b<a—-c<b+33<a-c
F,a,b+3,bc]l=4 [2c+3-ab+a-cb+a—cc| b<a—-c<b+3,a—c<3
[a=3,b+3,b+3,c] b=a—-cb=3
[c +3—b,2b,2b,c] b=a-c<3
[a—3,b+3,b+3,c] 3<a—-c<b
g[26+3—a,b+a—c,b+a—c,c] 0<a—-c<3,a—-c<b
([a—2b—3,2b+32b+3,¢| 2b+3<a-c
[2b+20+3—a,a—c,a—c,c] b+3<a—-c<2b+3

F,la,b,b+ 3,c] =1

[2b+2c+3—a,a—c,a—c,c] b<a—c< b+3

VUAEAr IR IEREL

I,(a—c=Db)
(1)b=2>c=1

[3,2,2,1] - [3,1,4,0]

[a+3,b—1,b+2,c—1] b=a-c
[a+3,b,b,c] 0<a—-c<b
\ [a+2,b+1,b+1,4] a—c=-1

- [0,5,2,1] - [2,4,1,0] - [3,3,0,1] - [2,2,2,1]
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(2)b>2>c=1

[b+1,b,b1] > [b+1,b—1,b+20]>[b—2b+3,b1]
D |

(3) b=1>c=2

[3,1,1,2] = [3,0,3,1] = [2,1,4,0] - [1,4,1,1] - [4,1,1,1] - [2,2,2,1]

(4)b=1>¢c>2

[c+1,1,1,c]=>[c+103,c—1] = [c,1,4,c—2] = [c—1,3,3,¢c — 2]

(5)b=1>c=1

[2,1,1,1] - [2,0,3,0] - [1,3,1,0] - [3,1,1,0] - [1,3,0,1]
e |

II.(a—c=b+3)
(1)c=1>b>2

[b+4bb+31]->[b+1,b+2,b+50]>[b—2b+6b+31] - [b+1,b+3,b+3/1]

(2)c=1>b=2

[6,2,5,1] - [3,4,7,0] — [0,8,5,1] = [2,7,4,1] = [5,4,4,1] - [5,3,6,0]
1 |

(3)c=1-b=1

[5,1,4,1] - [2,3,6,0] — [1,6,3,1] = [4,3,3,1] = [4,2,5,0]
1t |

(4)c>1b=2

[a,b,b+3,c]=>[b+c,b+2,b+5c—1]>[b+c—3,b+5b+5,c—1]

(5)c>1"b=1

[c+414,c] > [c+136c—1] - ]c55c—1]

30



Ill;(a —c =Db)
(1)b=1>c=1

[2,4,1,1] - [5,0,3,0] - [2,3,3,0]
1t |

(2)b=1'¢c=2

[3,4,1,2] - [6,0,3,1] = [3,2,5,0] = [0,6,3,1] = [2,5,2,1] = [5,2,2,1] = [1,4,4,1]

(3) b=1>¢c>2

[c+141,c]—>[c+403,c—1] > [c+125,c—2]->[c—255c—2]

(4)b=2>c>1

[c+252,c]—>[c+514c—1] > ][c55c—1]

(5)b=2>c=1

[3,5,2,1] = [6,1,4,0] = [1,6,3,1] = [4,3,3,1] - [4,2,5,0]
1t |

(6)b=3>c>1

[b+c,b+3,bc]>[b+c+3,b—1b+2,c—1]>[b+c—4b+4b+4c—1]

(7)b=3>c=1

[b+1,b+3,b1] > [b+4b—1b+20]->[b—3,b+5b+21] > [bb+2b+21]
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